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TABULKA MiISTNOSTI
AT PLOCHA
CISLO
MISTN MISTNOST m2)
3.01| HALA 19,62
SCHODY +
3.02| popesma 842
3.03| PREDSIN 381
3.04| KOUPELNAWC | 338
OBYVACI POKOJ +
3.05]  ucH. kour 15
3.06| Loznice 12,26
3.07| Looze 4,0
3.08| KANCELAR 2295
3.09| KANCELAR 2131
3.10| KANCELAR 2131
3.11| KANCELAR 23,09
TABULKA MISTNOSTI
&isLol PLOCH/
misr] MISTNOST m2)
B 3.01 CHODBA 38,11
3.02 SCHODISTE 15,61
3.03[  wc + UMYVARNA 8,96
3.04] wc +UMYVARNA 8,9€
3.05| CAJOVA KUCHYNKA 3,06
3.06] VYTAH (invalidé) 2,48
VYPOCETNI
3.07| TECHNIK 16,33
3.08 KANCELAR 18,58
3.09 KANCELAR 13,52
3.10] KANCELAR 13,86
3.1 KANCELAR 20,28
3.12 KANCELAR 14,51
3.13] KANCELAR 1344
3.14] KANCELAR 18,59
3.15) KANCELAR 15,38
3.16] CHODBICKA 6,27
3.17] CHODBICKA 6,39




